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Figure 4 shows a sketch of a circle C with centre N(7, 4)

The line/ with equation whe ween to Cat the point P.eq JF3 igent poi

Find

{a) the equation of line PN’ in the form y = mx + c, where mand c are constants,
(2)

(b) an equation for C.

@
1

The line with equation y = 3° + k, where k is a non-zero constant, is also a tangent to C.

{c) Find the value of &. 202\
3)

() PN is 1” tL so Las gracit 3, Tt alse basses
Heromgh N so

ar3xt+t od =-A\+e So C= 25

PN is trevefove aye a3 +95
(b) We know He cohe of the covcle. Tre rodues is PN.

Nis abG,%) so we woul Are comdeilesof P. Tuic es the
tinkersechén of 2 ant PN & We wrtersechor of

= 7/2 adh 2 343grc) (d 4 ay

Putrns (i) 200) 32 —Ax+tIS

lox/, = a5
ge

=TS $e ye ge HDS
So Pics (15 a:s)
So ate (15-1+ (4-asy = 262
So eqpehern f wrcle is (oe) + Ly)" = Fa.
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The ober peseieikky fyy ree sown by He exbve Grea
Q Las combriote L6-6,55) as Ab & on

ecprok _preqeshin fom P (75,25) b N (7,4)


